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A company has decided to acquire the use of a machine costing $600,000.
If purchased, the machine will be depreciated on a straight-line basis to a
residual value of zero. The machine’s estimated life is 6 years, and the
company’s tax rate is 25%. The company’s alternative to purchasing the
machine is to lease it for 6 years. A lessor has offered to lease the machine
to the company for $140,000 annually, with the first payment to be made
today and with five additional payments to be made at the start of each of



the next five years.

(1) (10%) Please calculate the present values of the cash flows to the
company of the leasing and of buying the machine. Please also decide
whether the company should lease or buy the machine.

(2) (10%) Following the fact that leasing is very much like buying the
asset with a loan, please use the equivalent-loan method to devise a
hypothetical loan that is somehow equivalent to the lease, and to
decide whether the company should lease or buy the machine (At least,
you should show how to implement the equivalent-loan method).
Please explain carefully why or why not the decision is different form
that of (1).

(1). (5%) If p(European put option price)=$1, S(Stock price)=$37,

X(Exercise price)=$40, T(Life of option)=0, Is there an arbitrage

opportunity? If yes, what should you do? Is borrowing or lending required?

Why?

(2) (5%) If p=$%$4, S=8$37, X=$40, T=0. Is there an arbitrage opportunity?
If yes, what should you do? Is borrowing or leading required? Why?

(3) (10%) Suppose T=.5, instead of T=0, p=$1, and r(risk-free rate)=5%.
Is there an arbitrage opportunity? If yes, what strategy should you
take? Please verify your strategy according to whether the price of the
stock at maturity is greater than , equal to, or less than the exercise
price.



